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Answers and commentaries 
 

 
 
Question 01  
 

Question  
Using your understanding of the historical context, assess how convincing the arguments in 
these three extracts are in relation to Peter the Great’s reforms of the Russian Church. 
 

 [30 marks] 

Mark scheme  
L5: Shows a very good understanding of the interpretations put forward in all three 

extracts and combines this with a strong awareness of the historical context to 
analyse and evaluate the interpretations given in the extracts. Evaluation of the 
arguments will be well-supported and convincing. The response demonstrates a very 
good understanding of context.                                                25–30 

 
L4: Shows a good understanding of the interpretations given in all three extracts and 

combines this with knowledge of the historical context to analyse and evaluate the 
interpretations given in the extracts. The evaluation of the arguments will be mostly 
well-supported, and convincing, but may have minor limitations of depth and breadth. 
The response demonstrates a good understanding of context.                                19–24 

 
L3: Provides some supported comment on the interpretations given in all three extracts 

and comments on the strength of these arguments in relation to their historical 
context. There is some analysis and evaluation but there may be an imbalance in the 
degree and depth of comments offered on the strength of the arguments. The 
response demonstrates an understanding of context.                                                13–18 

 
L2: Provides some accurate comment on the interpretations given in at least two of the 

extracts, with reference to the historical context. The answer may contain some 
analysis, but there is little, if any, evaluation. Some of the comments on the strength 
of the arguments may contain some generalisation, inaccuracy or irrelevance. The 
response demonstrates some understanding of context.                                             7–12   

Please note that these responses have been reproduced exactly as they were written by 
the student and may contain errors in spelling and punctuation.  
 
This resource is to be used alongside the A-level History Component 1E Russia in the age of 
Absolutism and Enlightenment, 1682–1796 June 2022 Question paper and inserts.   
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L1: Either shows an accurate understanding of the interpretation given in one extract 
only or addresses two/three extracts, but in a generalist way, showing limited 
accurate understanding of the arguments they contain, although there may be some 
general awareness of the historical context. Any comments on the strength of the 
arguments are likely to be generalist and contain some inaccuracy and/or 
irrelevance. The response demonstrates limited understanding of context.             1–6 

 
Nothing worthy of credit.           0 

 

Student responses 
 
Response A 
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This is a Level 4 response 
 
The answer shows an understanding of the main arguments in each of the three extracts. 
Knowledge of the context is used to provide some balanced evaluation of each extract, 
although this is not fully developed. Examples of the context include Peter’s absolutism, the 
influence of Westernisation and the Great Embassy, Peter’s continuing religious belief and 
support for orthodoxy, and the financial significance of the Church to Peter’s reforms. The 
answer is carefully structured to address both the strengths and the weaknesses of each 
extract. The explanations of the context could have been more developed. They are not 
fully convincing. 
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Response B 
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This is a Level 3 response 

The answer provides some comment, with contextual support, on the interpretations 
given in the extracts, but does not show good understanding of the arguments. Extract A is 
the stronger in terms of the grasp of the argument, with relevant evidence cited in support 
and some balance, with the recognition that the reforms were also about raising money 
for the Tsar. The commentary on Extract B cites from the extract and comments on the 
utility of the church to Peter only in general terms. The balance is less secure, as it is 
attempted with reference to Westernisation which is included in the argument. Extract C is 
the least securely understood: for example, the influence of the Church in Ukraine.  
Overall, there is an understanding of context and some supported comment on the three 
extracts but an imbalance in the strength of the arguments. 
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Question 02  
 

Question  
To what extent did the conservatism of Russian society hinder the development of the 
Russian economy in the reign of Peter the Great?  

[25 marks] 
 

Mark scheme  
L5: Answers will display a very good understanding of the full demands of the question.  

They will be well-organised and effectively delivered. The supporting information will 
be well-selected, specific and precise. It will show a very good understanding of key 
features, issues and concepts. The answer will be fully analytical with a balanced 
argument and well-substantiated judgement.            21–25  

 
L4: Answers will display a good understanding of the demands of the question. It will be  

well-organised and effectively communicated. There will be a range of clear and 
specific supporting information showing a good understanding of key features and 
issues, together with some conceptual awareness. The answer will be analytical in style 
with a range of direct comment relating to the question. The answer will be well-
balanced with some judgement, which may, however, be only partially substantiated.  

16–20  
 
L3: Answers will show an understanding of the question and will supply a range of largely  

accurate information, which will show an awareness of some of the key issues and 
features, but may, however, be unspecific or lack precision of detail. The answer will be 
effectively organised and show adequate communication skills. There will be a good 
deal of comment in relation to the question and the answer will display some balance, 
but a number of statements may be inadequately supported and generalist.         11–15  

 
L2: The answer is descriptive or partial, showing some awareness of the question but a  

failure to grasp its full demands. There will be some attempt to convey material in an 
organised way, although communication skills may be limited. There will be some 
appropriate information showing understanding of some key features and/or issues, 
but the answer may be very limited in scope and/or contain inaccuracy and irrelevance. 
There will be some, but limited, comment in relation to the question and statements 
will, for the most part, be unsupported and generalist.            6–10 

  
L1: The question has not been properly understood and the response shows limited  

organisational and communication skills. The information conveyed is irrelevant or 
extremely limited. There may be some unsupported, vague or generalist comment. 1–5  

 
Nothing worthy of credit. 0 
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Student responses 
 
Response A 
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This is a Level 4 response 
 
The answer shows an understanding of the nature of Russian society and the impact on the 
economy. Good understanding of the demands of the question is shown in the opening 
comments and the answer is analytical and balanced. There is a range of comment, with 
examples of conservative attitudes amongst the nobles, middle classes and peasants, and a 
grasp of the impact of serfdom on economic growth. There is also recognition, as a counter 
argument, that the ability of Peter to direct the economy to meet the needs of the military 
was a stimulus for growth. This part of the answer is less well-developed and could have 
been made more explicit to the question asked. 
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Response B 
The conservatism of Russian society barely hindered the development of the Russian 
economy in the reign of Peter the Great. This is because through Peter the Great’s reign he 
was able to invest quite a lot in economic projects. This is demonstrated in Peter the Great 
being able to set up the School of Navigation in 1701, School of Medicine 1705, and the School 
of Mathematics 1704 which would’ve been impossible due to Russia’s participation in the 
Great Northern War. Furthermore, the development of St. Petersburg in 1703 gave Peter the 
Great access to an ice-free port in the Black Sea (sic) which acted as a vital point for Russia to 
trade with the rest of Europe, was not limited by Russian societies conservatism as Peter the 
Great by the end of his reign being able to raise Russian finance to 8 billion roubles through 
the success implementation of his reforms. Furthermore, this is contributed by the Russian 
Church who Peter was able to secure his wealth from in 1721 through his ecclesiastical 
reforms which brought the Churches finances under state control through the Monasteries 
Prikhaz which yielded over 1 million roubles. The Russian Orthodox church being the most 
conservative in Muscovite tradition, Peter the Great was able to make use of their wealth for 
his economic development. 
 
Therefore, Russian societies conservatism barely impacted on the development of the Russian 
economy in the reign of Peter the Great during his reign. 
 
On the other hand, conservatism can be seen as hindering the development of the Russian 
economy in the reign of Peter the Great. This is because Muscovite tradition saw the serfs 
who made up 90% Russia’s population remain illiterate with under 10% of them being able to 
write. This made it difficult for Peter the Great to introduce his agricultural western reforms as 
it saw no change due to the serfs sticking to the traditional muscovite ways of farming. 
Furthermore, the Noble tradition of inheritance saw land within Russia survive as it was being 
divided up getting smaller and smaller. The impact of this on the development of Russia’s 
economy is it meant that industries such as steel could not flourish due to their hardly being 
land. Therefore, Peter’s 1714 Ukaz attempted to tackle this problem through Single 
Inheritance. However, Peter’s economic developments were hindered by his inability exercise 
his full autocracy of the entirety of Russia which was too vast. Thus, the further away the 
Russian people were the less likely they had to follow Peter the Great’s economic reforms 
severely hindering the development of the Russian economy. 
 

 
 

This is a Level 3 response 

The answer shows an awareness of the issue, with the argument that Peter played a direct 
role in promoting economic growth in that he was ‘able to invest’. There is also a 
recognition that conservativism hampered the economy.  The supporting information 
about economic change, and the impact of serfdom and landholdings, lacks precision and 
is not always made explicit to the question asked. The answer has some balance, and a 
range of comment, but there is some loss of focus, and a number of statements are 
inadequately supported.  
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